mEEHERER (77O XEE]

B BEDODEELEA HLESD. EEEVEFEDISIZRELETH.
14 HOEE

"0% " 0%

= 21%
“II =1 B
=2 TE
=3 E|)

=4 DS
" 79%

B2 BEX. CAAZECCREDIKEOCEZIZELELRIGELTULNET M,
14 HDEZE

“14%. " 0%

=1 B
=2 THE
" 57% "3 BN
"4 DHSEL)

" 29%

B3 BAICE =& RRUIEGEFBHELLT LTI,
14 HrOEZ

" 7%

" 29% ‘

=1 B
-2 Ll
=3 ZE(\
" 64% =4 HHSEN

B4 TT7N\DATOEFREFXESIRLTLNETH,
14 HDEZ

“149% " 0%

=1 B
=2 A
" 57% "3 B0
"4 DHSEL)

" 29%

RE)

MmeEE



BR5 BEDKRMITIXESITI D,

14 HDEZ
" 14%
= O% ‘ - 36% I1 Eb\
-2 i
= 3 2E|,\

=4 DHS7RN
" 50%

BHE6 #HAEIOFIMILARITHICREEFH CTERHSPHAEEZERL-CEITESIRLCELZ,,
14 oEZE

" 0% o’
(o]
-1 B
-2 i
36% . .3

=4 DHS7RN

BHR7 BRE1~6DRZFEHOERFHNIZTEEALIZEL,

T DADHISIZLHHHS

IR FITEVRLROELHD

"ABRBICREEOTHLIERFHYN=NTIN, TNITKYBE. LENENDENH L. RTTE
BHTEFREILIZSTHRIBRELLET .

‘LeolEWEN T AHoEMLLY,

- FLTLEZSWVET



